LESSON - 13

Unit 1
Patterns Introduced

Past Continuous Tense

Sub + Verb Root t | @/ w® /| | auxiliary
Higel ST T@T o7
Mohan was going.
1.0 Text
HeATHARY

9

el §H SH § FAHART ST I | Ig 99 VST gog fAeaedad®RAd & doich & 3R ar
ﬁ%ﬁm@nﬁﬁﬂﬁ%la@ﬁmﬁamwal

T A 3cAd FeX 97 | IR 3R gRATe M| gu gdwsh @ oA 3R @t & aref
rferar s(A W A

FrATHARY H ed T AUT| dled 3 @ TR IR T AT| ofgd fohek & ot T &
3R T oic W i1 39 Aol 5T T & 36 of | A

SR & WlleT Fgl &1 FellcAsh a&U o9 I Al $© Ageh Al-ad o W 1 I, Fo
I oI Yanel & gl fr -l I 97 ' A1 oaw, 9, @els, Jare 3nfe see A9 9w
T o)

1.1 Vocabulary

qieg beautiful WER [ WG (m.) |sea

T (m.) view / sight IS to roar

ga (f.) sunshine el (f) waves

e (m.) paddy fRaIRT (M) shore

ST to swing THUAT to hit

e wonderful et (m.) tourist

RiIry direction/towards RIEGI return, to go back
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37eAE T to enjoy X (f) sand
G (m.) market g (m.) conch
AT to stroll around @y (f) shell
ArT-4919 FIAT to bargain @aler (m.) toy
argeh (m.) customer FET (M.p.) spices
LIT-Toam multicoloured Tgehall to chirp
ST to sell GleaAr to buy
FolcHS artistic

1.2 Try to comprehend:
1. FIHAR & U a8 $gl § Forchl & ?

2. TET T T &Har a1 ?

3. SR H SHlet-hleT Y Aol oo T &4F 2

1.3 Grammar and Structure

1.3.1 Past Continuous Tense

Read the following sentences.

H ol AT ST TET AT

I was going to town yesterday.

39 a@sfha & 3T W A You were coming by a cycle.
Aol BEr St w@r i Mani was speaking Hindi.
Rfzar ggs WY oA Birds were chirping.

qH ATH HT FT F ¢ A?

What were you doing in the evening?

. In all the above sentences action had been going on at a certain time in the past i.e. anytime

before making the statement. This is called past continuous tense.

. You must have noticed that above structures / sentences are quite similar to what you have
learnt in present continuous tense given in Lesson 6 - Unit 1. Only auxiliary verb ‘to be’ (8

/g /8T é) is changed into 2T/ &/ &Y / &F — that is past tense marker.

. See the chart given below to understand what pattern you should have to follow to make

past tense forms of the verb
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Verb root ST Continous marker I Tense marker
H(s) ST @/ @ ar / oY
Ist Person
8 (p) St W/ W /o
d(s ST / ar /o
IInd Person 8 @/
qH(p) | w® /@ &/ o
39 (p) |ST w® /@ /o
I11rd Person g (s) ST T/ WY or / ofr
d(p) | W/ /o
. These forms show the perfective particle ¥g of the verb ¥g«T following the verb root of the

main verb. Then the gender and the number markers are added to ¥g. Auxiliary verb also

shows the gender and number marker.

. Read more sentences and note the agreement with the subject in gender and number:
Masculine Singular Feminine Singular
(Verb root+ Ig+31T+2) (Verb root+Ig+35+2T)
# gg e ol # gg T A
o &9 TeT 2| q &9 T A
9g W TET ATl a8 39 @ AT
M.P1. F.PL
& 9¢ W U & 9 T AT
q# @ ® 3 GLICIERGI
39 oA @ 3T A1 W A
dFMI LK T ? d @ X @ At ?
g Wol & d| IsfoRar Wer W@ oA

1.3.2 Negative Sentences

To make negative sentences, we add negative marker =Tg¥. It is added invariably before the

verb root of main verb, eg:
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1.4
1.4.1

1.4.3.

Affirmative

Negative

1. | # qem #X @A

S

el AT TEr AN

2. d¢¥ %ol dis T@T Tl

deX el gl dis I@T Tl

3. | ToTaedAr @@ W oA

ST 16T g @r A

4. e IR & o

e el IR & Ul

Exercises

Read the following sentences :

1.
2.
3.

7.

Hordlell X S I@T AT
AT FR &g | A
AT S8 T A

Us A W I
3fFeT e I W A
oIsfenal Tgel @ |
e siieh TgT 7|

(Fruitseller was selling oranges.)

(People were buying oranges.)

(River was flowing.)

(Trees were dancing.)

(Urmila was singing a song.)

(Girls were strolling.)

(The dog was barking.)

Make ten sentences using one word from each column given below.

H

q
&
Bl
st
g
3R

A & 4

£ & 5 5

Transform the following sentences from present continuous to past continous:

Present Continous Past Continous
Model: | fyeeh gz W@ &1 fSear iz W o
1. ﬂ' a.aal. a_@. ET Eul ........................................................
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Unit II

Patterns Introduced

L SUB + noun qdT & / ATGH &
X B g § / ATH ¥
2. Subject | + | Noun | + | Ferarsmedy | + | auxiliary
# T STl g
ER adr STl €
2.0 Text

Read these sentences:

1. 31feTer &I TEAT 9T Bl Anil knows the way.

2. AT &I TEAT HTeHA gl Salman knows the way.
3. AT ST AT TH 9T g Seema knows my name.
4. El I AT AT AT gl Rahul knows my name.
5. g 3cax gar gl We know the answer.

6. I 3] ATeHA ¢l You know the answer.

2.1 Grammar and Structure
A) qdT & / HATHA §
HS 39T ATH 9T g > # YT A ST g

. qar g / HTlH g are two equivalent verb phrases used parallel to each other, meaning
‘known to’ or ‘aware of” . These verbs take oblique (indirect) subject with ‘aI”.

. We also have alternative expression of a regular verb STe1o1T (to know) which takes direct
subject. See the difference between these two phrases.
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Example:

A B
HFRT (FH) TEAT I &
P! (F[3) TEAT ATHH &
BHSI (§H) JFERT X Ul ¢
gHAD! (8H) TFERT TR HATH B
faear 1 q16 AreA B
faezr & ars uar g1
el FI Tg 1 9T B
AT T IE ST ATH B

& gear seEar §”| I know the way.

& JFONT I SeTa &1 | We know your house.

Jear 91e FAeTdr &1 Vidya knows the lesson.

G ACIGRSIGE RS People know this fact.

You can see here that the sentences of column A takes oblique subject (sub + @T) while the

sentences of column B are used in direct form (without ).

2.2 Exercise

Make two sentences from each verb phrase:

2.3 Additional Vocabulary

Herdrell (m.) falva:la: fruit seller

CAEIC (m.) du:dhva:la milkman

@ERATT (m.) akhba:rva:la: | newspaper man

TR (m.) santra: orange

cgoler tahalna to stroll

ATTAT na:chna: to dance

CIEG thodna to pluck/to break
drgar si:khna: to learn
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Unit 111
Patterns Introduced:

1. Names of days

Day/dates Verb root + form of YgT Auxiliary

IHIR &l YA NAAE R R
3+ @/ W R p

H dIE A

2. Week/Month

IFTS gFd/ WS JAglT M+ W/ W/ ® /8 ar/ /oA

3.0 Text
AFITAT
Happy Journey
gell, 0T, JA ool e ST I &1 ?
# @er ST @1 €1 3R 31RaA, JH F S W@ & ?
#H dr Noe HFEGR &I S @1 A1l W
AT S, 3T W/ &, safav...
hleT & AT SN?
I =T, St 9or # E W@ )
3T 30T |
d R T A §1g I E E gafov #H 3rel FAarR Hr el S @ g
8% &, # & a0 F olie @ g
8 &
ITOI, TAHAERR
THATHR, ITRT I YT 8|
3Mehr 8 AT e B
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3.1 Vocabulary
FoT tomorrow
R last, preceeding
37T next, coming
OE OK
ad@ (f.) date
drel (m.) year
HEAT (m.) month
g%T (m.) week
3.2 Try to comprehend:
1. Foue ool e ST @I & ?
2 HRAT =TT el Bl o ?
3.  HEI Arar fhcel §HEY G 3T @ 8§ ?
4. 3REe ool Fa S @1 § ?
5 FUT feoell ¥ e die @1 & ?
33 Cultural Note

3TT9ehT ITAT A gr/ RI37 ATAT — Used to wish someone for happy journey.

34

Grammar and Structure

Adverbial Expression

Read the following sentences:

1. Rars GFaR &t 37 W/ & Father is coming on Monday.

2. & fAar & T T|T AT I was going on Saturday.

3. 7 MER @ 31| You come on Sunday.

4. 3T 10 I HY ST You come on tenth.

5. dg Ygel dil®@ & wigeT o &Y Y| | She was going to London on first.
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6. el JTel 2l e gl WA Sheela was going on leave from second.
W&

7. 3T ICdiE & gded ) Examinations strart from next week.

8. Ig S T I H [T hiforw] Please complete this assignment in one year.

All the underlined phrases above are adverbial expressions derived from nouns and take
case ending Eﬁf, @f, ﬁ, eg.

e & during the day
QITH hr in the evening
qde q from the morning
I &l in the night

3.5 Exercises
1. Read the following sentences and underline the adverbial phrases:
1. AT AH A gl H B
2 AET HIHIR I 31T
3 U H degel o | U
4. A gaE & FHA I @ 8
5.  F TUosel Id &gl ¥ 2
6 319 30Tl 15 aRI@ &l 31T
7 arae 7 st gl gl
2. Make two sentences from each of the following:
3TdTell
EEEI
Teh HAglel &
G &1
3T ATl
e aeam
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3.6  Additional Vocabulary

Articles of daily use

o bag H mail
qofdT bed gars medicine
qs& road ar money
CRRI electricity afear pillow
qEr fan F=N scissors
ey floor TJAT spectacles
e gum ar watch
B letter ardar umbrella
arerT lock

3.7 Let’s Count:

81 SeraTaT 86 oy

82 ST 87 Tardr

83 T 88 37T

84 T 89 TardY

85 =Ty 90 Tea

Recapitulation

You have learnt in this lesson —

A) In past continuous sentences the verb root of the main verb is followed by perfective

particle T (Ig=1T) with appropriate gender, number marker (31T / T / §) and auxiliary verb
(ar / &/ &4/ &) accordingly.

subject object verb root T+ 3-1T/§/Q' auxiliary
arer Helal el T+ W@ |
& Sall g1 @) T | &
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B)

For the expression ‘I know’, there are two identical verb phrases used as variants. They are
ATS[A & / 9aT gl In such structure the subject takes ‘&I, e.g.:

Al AT (calculation) HATCH &
A gAT I §

But there is also a repeat verb for “STsIo1T’, the expression that takes the regular conjugation.

Thus we can say any one of the following:

0

A T /|

S ATA g/

H ST g/

Certain adverbs of time derive from noun and case ending of @I/H/H etc. are added to
them. e.g.:

FHIR P, Ugoll dRI@ I, A H, AHHA, JdH
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Unit I

LESSON - 14

In this Unit you are going to learn :

Simple Past Tense (ATHT 3 cehlel)

Subject + Verb root + 3T / a7
# 3T+ AT = 30T
Hor o + 3T = g@n
1.0 Text
dRaer @ HerasT
3heY R T SIGRATE AT| SRS IR FT FA AT IR TgI Fe AT 27|

Tsh R 3hsR o EER H AR AT T AT STELqE & T FA SIGR H 37T FTeRMe
o FETST 9 Teh @M Tl W7 Higel & d1¢ 37haR of ARIAT T gl - 39T 39 3@l
S SIS AT T o= I oie”| @l 741 g0 o) Freeng o Uh g9 HN A Folr|
3 YOT - AT 3T AP [@T & BT H Tehed ¢ o1 FIE BI”| AN IT W1 378
IS 3UTT At HeIT| A H 3Hehel o IRl & Jorrdm AR 308 ot Fgr qor| dRaer o
FET - “H 3T IW@T Pl BIET A b §°| IR & 3Fha FI62AE I W@T & AT 37
@1 T 3R gl - “31a 319 HYa IW@T Sl STAT TR IET BIET 87| qGATE A SRaol

FI A feaT| IR o qEATE A HeIdiG |

1.1 Vocabulary

3ThaT Mughal Emperor of India FIeaT to cut

R Iere) India B to alter

EIEHIFS Emperor T Tl to keep quite
7 Minister 39T (m.) solution
g‘q@mﬂ Intelligent SEn to come to mind
e&ER (m.) court g H at the end
FIETT (M) paper et to call

@ (f.) line g to ask

dar to draw ¢=adre ¢ | to thank




1.2 Read the lesson carefully and try to comprehend:
1. 3haT @l a1 ?

RS @it AT ?

SIEeng o HAAT AT HEl JoIrAT ?

SIERAE o Y@ gl Gidr ?

STeRITE & ARG & AT qor?

F g & 2

el o 2T fRaT ?

@1 dieel & dTc SReel o 4T FHgl?

J1eRNg o T fehar ?

© ®©® N o g e b

1.3 Grammatical notes

Simple Past

The Past Tense form of the verb represents some (particular) act done in the past, for example:
HlgeT o 3T Mohan went home.
HAIgT o WAT @RIT Mohan ate food.

Simple Past Tense is formed by:

a) adding '31T to the verb roots ending in a consonant, e.g.

Ye + 31T = Yal

for@ + 3m = fo@r
g + 31 = @liar
b) adding I to the verb roots ending in a vowel e.g.

3T + g1 = 3TAT (came)

I + T = IMAT (to sing)
C) There are few irregular verb forms eg:
ST+ 3T > IAT / AT/ IS /IS
Y + 3T > far / fu  dr g
qr + 31 > ar / o/ 9y / 4t
>

g + 3T fear / fRuw /1 & / &
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o+ 3T > forar / forw / oy / ofF
g+ 3T > §34T/§tr/§é/§§

T+ 3 > oW/ BU/BS/ TS
Verb Aggrement Pattern:
. Each past tense verbal form has four variants namely Mas. Sing., Mas. Pl., Fem. Sing.,
Fem. Pl. eg:
Verb root Mas. Sing. Mas. Pl. Fem. Sing. |Fem. PL
LC) ear LC) o et
3m 3mar iy 3 3
™ @r Lec) & Recl]
R[S e qe qr aet
. You have known that verbs are classified into two groups:
1. Transitive verbs
2. Intransitive verbs

Transitive Verbs

Transitive verbs require an object, e.g. @T=T (to eat), & (to read), =TT (to sing)

Hat 31 @ | I ate mango
Ha forare udr| I read the book
el o AT ATl Sheela sang a song

In these sentences, verbs W@ell, UgaT, AT require objects 3TH, fohdTe, 3. In simple

past tense construction, where transitive verbs occur, the subject will take postposition =1, e.g.

TA & QAT G|
381 HIAT @leT|
el & fohdTa 9|
A 7 |

Ram ate food.
He purchased articles.
Sohan read the book.

I saw a movie.

Therefore, verb shall agree in gender and number with the object in simple past tense not

with the gender and number of the subject.
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Intransitive Verbs

The verbs which do not take objects are known as Intransitive Verbs, eg: &« (to laugh),
SITET (to go), TeloT (to move).

Intransitive verbs don’t take postposition with subject, therefore they agree in gender and

number with the subject, not with object.

A AT Ram went
drar 18 Sita went
S AT boys went

asfhar a8 girls went

Now Compare the Constructions:

Intransitive Verbs Transitive Verbs
fare =¥ a=n et & @ @
HadT T IS A o fhrde o
q@r e ALY & 3MTH TR
3deT 3T ey & A& @8
AgaT A g9 @RI oo & 97 o
afrar #t gor A snferar o Redr o=l

You will note that the sentences of column ‘A’ take intransitive verb and as such the verb
agrees with the subject in number and gender. The sentences of column ‘B’ on the other hand have
transitive verbs and thus, they behave differently. You will, in particular, note two changes with

transitive verbs:
1. The subject has taken the post position ‘=,
2. The verb has agreed with the number and gender of the object instead of the subject.

The pattern of the agreement in both the types can be illustrated as follows:

1. Intransitive verb Subject Object Verb
c.g. |#Hgd IagqT
2. Transitive verb Subject + o Object Verb

€.g |Hgd o & ECIES

When ‘a1” is added to the subject, verb agrees with the object in the following way:
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Subject Object Verb
A) ataH & feeer @1 fehe Tlier|
Ha JTYHT HTH sTer fema|
e (3TTST) ATRAT sTer R (Mas. Sing.)
g Ao fo¥era &1 arre el
e = CERI o)
B) Afed o &H el @<
ST arer o ar gt T o] (Mas. PL)
frarsh & CRES TE |
3 o AT S Jear|
C) AT A gars o ?
A A Ui T gl aer| (Fom. Sing)
#Hrar ST =9 qr
FIAT 39 A S TIsfha cdr ?
D) # gt & faw |8 wifzaf T |
A YeATE T FErfAar oTel Tl (Fem. P1)
AT ferars For 7 G|
A AT A a5 A $ARC ¢d|
When ‘& is used with pronouns in simple past with transitive verbs, they take the following
forms:
H o) = |#HS
gH a = |\
4 A= &
& S e
g o = |3
dg o = |38
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I8 + G = |3

a + aF = |38

) + o) = |Segled

i (sing.) + o = | fraa

Fla (pl.) + a = |fege

. You should also know that &T=T (to bring), SlTel=TT (to speak), T (to forget) and HHSTAT
(to understand) verbs are important exceptions to the above rule. In other words, even
though these are transitive verbs but they behave like intransitives and do not take ‘a1’ after
the subject. Eg.

faspra fohare @] (Vikas brought books.)
HAGL HS o1 slelm| (Manohar said nothing.)

H 3Taehr a1 S8 el (I didn’t forget your talk.)
gg 3M9ehl aTd sTer d#sT|  (He didn’t understand you.)

. Some Transitive Verbs are derived from Intransitive by certain vocalic changes to the verb
roots:
Intransitive Transitive
AT (to die) ARG (to kill)
e (being cut) ShIcHT (to cut)
gelaT (to open) Gl (to open)
fe@= (being seen) &g (to see)

. In certain cases beside vocalic changes some consonant change also takes place:
Intransitive Transitive
gea GG
IEETI) =T
el PISaT
e SEICH

1.4 Exercise

1) Translate the following passage with the help of vocabulary given below.
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Higsl g A ool 37| Hlgal o He Ul 3N Agep arRar fohar 3R 316 oo el
IAT| Thol H HgeT @ gfdgrd, samel, 3 3R ST Tér| e &l IR oof 9g =X alerl =
3T a8 Pedicl Yol Teh & I-T| YA 96 O ol BX 3T | 38 316 ol Wl G|
Teh ©C HIgel o Thol HT A T =t 9o gg @

g (f.) morning Q:E'ﬂa' (m.) geography
3&AT to get up 3 (F) English

;i’-e,r (m.) mouth/face A (m.) evening

YT to wash Il to return
TETT after taking bath W (f.) football

rear (m.) breakfast 9 (m.) park

sfaegrd (m.) history

i) Change the sentences according to the given pattern:

Model I Jg A IR FoF 37T & dg T IR Sof 37|
L. # AT T HT AR €| ST H

2. aE U 1S T Tl A L 3T TE oo
3. ST T 316 FaF Hier Bl K11 B S
4. d IR 99 334 gl T T e
S offel 35 Fof & ST Bl AT 3T s

Model Il | g gag 3G oof AT T &1 | 36 37T a6 3G qof aArear |
1. HIgsT U I T@IaT gl

2. @ Rt & fAedr fo@ar g1
3. # gag R &7 3m@ar e
4. et T @ledr g

1) Give the answers of the following questions:
1. 37 & 3t &e aTe?

2. TS 39 AT THT?

3. ST JAA 8 a7 forar?
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4. AU o g Tt w9 fu?
5. H1S JFeR oI &= emrar?

Unit I

Patterns to be introduced:

Adverbs of Time
Subjet + Adverb of time Verb
H M T CIETI
@ﬂ' hel HTAT
2.0 Text

31T geig fadeh arer ST 33T| 5727 &deh AAgIAT| Tl dof oo fadeh IR &1 a11| |ie Al
o ATRAT b TR F AFalr| AT T R UeoT T 98 T qgullwaﬁ’vwmaﬂw
e A MG X A 99 3g| R G997 A Tl o I 99 GFR TgA | AT} T a9
o THR H WISl [AUerg| 38% a1 WAT @M Wl Tl & a6 dde A7 TSl & 9r 37|
A & 3 a1 i R I F= g3 HA G 1| A HN o fadR 3o TR o

2.1 Vocabulary

IGERGI to come out amgel (f.) afternoon

A daily A T sometime

deor by foot T FEAT to talk

tlgwﬂ?n to reach RT FHAT to finish
CEAGI dispose off ST to climb / board

Text based Questions:

1 fads 3T fohdsl St 3317

2. fads X @ &e e ?

3. a9gY doh fads o &Far fohar ?

4 ﬁé?ma»—q'qg’m?

5 GlAT Tlet & a1 fads fohdesh 9 ar3r ?

2.3 Frequently used adverbs of time are listed below:
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Fol tomorrow / yesterday

MTTFol nowadays

yfafesT everyday

sy at dawn / in the morning
SIEECIES again and again

TheH /| 3IC | R /| Rd immediately / at once

R / AR continuously
gAT / TeT always

iy again / then
9 [ S often

2.4 Exercises
Fill in the blanks with suitable adverbs of time given below:

IS, U, 3olehdl, WAl &, TR-gR, §HAT, HT-FHar

1 gg e qaE I
> p, JETII G ST B
3. e, Araw 3ot B
4 e sz oA
B e 75T |
6 qa EE oo 3T &
Unit III
In this Unit, you will know about Reflexive Pronouns ‘39«1
# 3T HTH T €|
ag 39T FR AT T gl
3 3o ERERIG I

3.1 Read the following sentences carefully noting the words underlined:
# 39T 915 ATE FX @ €1 (1am learning my lessons)
qH 3IAT A ]| (You do your work)
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3T 39 3 fAfaw) (Please count your money)
38 AU fohdra ger| (She read her book)
You will note that ‘3791 has been used in the above examples in place of AT (my), dFERT

(your), 3T9ehT (your) and 384T (her) respectively.

‘3941 (one’s own) which stands for any subject is called a reflexive pronoun. In Hindi,

subject and its possessive forms do not occur in one and the same sentences. ‘39«1’ is used in

place of possessive form.

Observe these sentences:

# 39 (my) T AT E |

& 39T (our) T FA & |

JH 39T (your) A I & |
3T 39T (your) &I d & |
gl 319 (his) FH FAT & |
AT 37197 (her) I FAT § |
5% 39T (their) T A ¢ |
ISRl 39T (their) T T & |

In these sentences, ‘379« functions like —31T ending attribute and it agrees with its qualifying

noun on the 3T - T - épattems. eg.

T 39T 916 (m.s.) TG X &l gl Geeta is learning her lesson.
T 39s HUZ (m.p.) OF @ gl Geeta is washing her clothes.
Ifrar 39l forare (£s.) 96 @ &l Geeta is reading her book.

e 39 Refsar (fp.) @ @ g Geeta is writing her letters.

Please remember that ‘319«T’ is used only when the reference is to the subject in a sentence.

Compare the following sentences:

AIgeT 319l (own) S HTH T IET &l Mobhan is cleaning his own shoes.

AIgeT 38 (his) Sd AP T T&T ¢ Mobhan is cleaning (other’s) shoes.

3 YT HHAA o & g2l They are brining their (own) luggage.

d 3oTehT TTATT o B &l They are bringing their (someone else’s) luggage.

In Imperative sentences, Subject (J, A, 39) may be implied, even then *39=T" should
be used in place of JFERT and 3T9ehT eg. —
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gl 39T A1 QT (Please write your name here.) (Sub - 31T9)
39T 1A Yg | (Do your work yourself) (Sub. - g#)

3.2 Exercise

Fill in the blanks with the appropriate form of reflexive noun ‘39«1’

1, po1 e 1) W dic W} 2

2 I o, dg<1 & HIY =X |
3 311 S 9faer ¥ faf@u|

4. - HTH HT G ¢

5 TH e gehTel Tiell |

3.3 Additional Vocabulary

Let’s Count:

91 SHATAS
92 CIGEE
93 R
94 GG
95 oI
96 R
97 qdeTd
98 3T
99 Floatrer
100 ot
Some Animals
ant G} fish GO
bird IBIER goat LT
cat CIZTIl horse LI
cock ﬂ?ﬁ lion R
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You have learnt in this lesson —

L

II.

I1I.

Past tense form of the verb.

COwW IMT owl 3ol
crow HI3T rat TJgT
dog FcdT snake g
Pl
elephant | grefy tiger T
Recapitulation

A Subject Verb (Intransitive)
efgehl (eR) i
AT & @) 3ol
B Subject Object Verb (Transitive)
CECHE greT Q|
GECHE] e ars|
ECaE] el Y|
Adverbs of Time
H e 1314 ge
ATH Y

Reflexive Pronoun ‘319«T’

# 39 FIA (M.s.) T g
#H 39l w2 (f.s.) Tgear g
# 39 IS (m.p.) €T &

208




Unit I

LESSON - 15

In this Unit you are going to learn the following structures:

Future Tense

Subject + Verb root + (Person marker + Future marker) (3T / 3t / 3fT)

Mas. Singular Mas. Plural Fem. Singular | Fem. Plural
H SEar | gH ST | #H SEafr | gH Sra |
q &g | & 2@ o S | A ST |
g8 gaAam | q gl | ag e | q ST |
1.0 Text
Instructions:

1. Read the text aloud.
2. Try to comprehend the text with the help of the vocabulary.

3. Go through the section on Grammar and Structures.
4. Again read the text and you will be able to understand it.

Teh Jld A Toh qearell el A a8 IMadrel & g8 T st AT A Such | T et a8
oY T AcHT AT W TR AGT T AT S W AT ¥ H dg Hieed o9l "H Ul gy a=ea

T YT a4 €AY 9 ST U gt HR A v Iy @l depelt| R dEe &

quaTell HT qY=T

foIT B 9 ST gy g | JY 3R SATeT Wiher gren|

o feal afe A X A g@ll I Jreeh, O ey, O o, 0 R Y W A ge an’y
AT gl | AT HEd-HIEd GUaTell ST HYAT 38T SGa1 ol | 38 Erer foh 3{Tel Aol 3HeRT 71T
T A Anl-Alniadl & Hia AR a8 IR & QI | 3HA
afd $T FH A & AU HgIm dr g5 T B starg <ol "#H g w1 A H&I| war
a8 38 AT g 3R g i wedr M T gy i Aedr A TRe & @y g 3R
Selel 1 38T YT 8 ge I

B A9, AT TR giav|
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1.1 Vocabulary

g (m.) village BrRIET (M) profit / benefit
gerarel (f) milkmaid AT (m.) dream

rEX (m.) city e to increase / grow
ST to sell ATt (m. pl.) | servants

e (f.) pitcher (earthen) HRH (m.) rest / comfort

FTAT to save eoteT to be moved / shaken
effy-efY slowly AT rich

@licer o | worth buying T to be broken

1.2 Try to comprehend the text with the help of vocabulary given above and answer the
following questions.

1. cudrel &gl WG oA ?

2. 9 o¥ fhad t@dr &Y ?

3. 38& W A o amd 3mah ?
4 3% AT T H FHH PleT HQMM ?
5 GATel I HUAT H geT ?

1.3 Grammar and Structure
1.3.1 Future Tense:

You must have noticed a new verbal usage ‘§ar33f’. Such forms are the indicative Future Forms
of the verbs. Here, ‘37" within the conjugated form of the verb is the future marker. The conjugation

of the verbs in future tense is as follows:

Singular Plural
Verbroot ST+ 3 + a7 + 3T/ § Verbroot ST+ T + T+ T/ §
I Person
H SEem / & S gH SUar / Suet
Verbroot+ T + T + 3T/
T AT / SIS
IT Person
o Sreer / 3 Verbroot + 3T + T+ T/ §
dH SR/ Sane
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Verbroot+ T + T + 3T/ §
III Person
dg Suen / Seef q STUar /Saet
. In the above conjugation ‘3, W, ‘W and ‘3 are person and number marker. ‘3T’ is the

future marker and 37 / T / § are gender and number marker.

Please look at the future forms of the verbs:

1. |3 31070 I 3PRT TS| I will go to Agra next year.

2. |s== el A RS T g Children will study Hindi language in the school.
3. | T¥T 3TTST oTH T W@TAT ST Radha will prepare food today evening.

4. |wefear g & rapil Girls will walk in the park.

5. |7 aA AR & fred & g@r? | Will you not watch film on Sunday?

6. |39 37Ter ST WITA IT ATTA? What would you eat today, chapati or rice?

7. |ag el #; e T &7 Tom| He will play in the school’s cricket team.

8. |r q A FgaAT AT AAIM? Won’t you obey me?

9. O EHI EH FAS e A HHT Next week we will travel in aeroplane.

HET|

10. | 37157 geer Ao Aol Everybody will get sweets today.
. You will notice some sound changes while conjugating -3’ or ‘-3’ ending verb roots in the

future tense. The vowels ‘8’ and ‘3’ are shortened to ‘3’ / ‘3”, e.g.
g - O - R3em, fRuen, {der, fener
Sherr - St - for3em, foreen, fSQa, f&isien

Look at the following sentences:

CECS GA3) foaf| The girl will drink milk.
KICEEIC] qgafr o o) Now you will live happily.
H sg oid & g7 §UWTH I will not touch this plant.
. The verbs ‘o’ and ‘ST’ are ‘irregular verbs’ for the future tense. While conjugating these

verbs, the vowel ‘T in the root is dropped and the future markers are added. Thus, the
conjugated forms become :
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Masculine Feminine

¥ | o, &, e g, &ah, &M, Qe

See some sentences:

H 3TeT Py AGT o9 I will not take coffee today.

FAT IJH 379 g FASTeRT aref? Will you give me your book?
po] Po]

ITST A Rare AR T golk 9T | My father will give me one thousand rupees

& today.
TIAE ST & T 31 aer 2 What will you charge for airport?
Verb ‘@11 is also irregular and it is conjugated in the following manner:
# QI3 / gl el
7 gl
o gl —_
39 g
ag gl q gl
Look at the sentences:
39 el ATH ST gl gy ? Where will you be tomorrow evening?
ag oISl IgT giefh That girl must be right here.
T A 39T g% ool & gler ? Will you be in Delhi next week?
# 39 gAY g9T W TET gr39m| I will not be at home then.
Exercise

1.3
(1)

Transform the given sentences as per the example:

Example: T8HT Fdl TARY G| - ASHT el TARH ST |

1)
2)
3)
4)
S)

T BT ATS T3 H Jadr 2|

# e w9 §el g

3H SR H AfRRT cq of 3 §
FAT JH Pedie Wl B

3T SR BT
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(i1) Convert the following passage into future tense:
# qaR &1 A1 TS 33T ARAT A F TE S g A G ;T AR T wer gaAT|
citeent # Bl 3R A Thel &1 HH ATl Th gof HAA WA WL R 30T A4S H

1T Tellfdolel ¢@T| IR §of §H Gl fshehe Wolel & [olT HeleT T|

Practice material

(iii)

The following passages are given for further practice in future tense forms:

a) AT, 3ERT & v 98 sef ¥ Aoef? | Please listen, where will I get bus for Agra?
The bus for Agra will be available from the
BRI & TIT 97 A#H & [Fee| L
opposite side.
99 fhraar I Tee ? At what time the bus will start?
g9 U U¢ dIc 9| The bus will start after one hour.
b) 3T 30T A e AT ST @ E ? Why are you taking leave next month?
. . . | I'will go to Banglore. Therefore I'm taking
#H doreiR S| FafeT gl o W@ g )
3 eave.
FIT 3T 37hel & ST ? Will you go alone?
S T8, AY I AN g o Suet No Sir, my wife will go along with me.
c) 3T RHET &7 Tedl H a7 Hiafi? What will you do in December holidays?
#F frFeT ST I'll go to Shimla.
. ) o It will be very cold there, Will you stay in
ggl dl §gd 33 grefl| T gleel # ogdal? 0
3 a hotel?
S g, glca & & og&ett| i freem #| Yes Sir, I'll stay in a Hotel. T will learn
q:ﬁg-q A da| skiing in Shimla.
Unit II

Patterns Introduced

Infinitive + dTgIT verb — for need / requirement
# ST agar é |
H g forgetr =gy |
qE 3TIH $T IO 6 T &l
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2.0

Text

Rar 3k T i I

Mol T deT AR TAREdl Hell # UG @M A1l T A 38 Tar o 388 go1, "qA
STTAISUE & dlg AT Al e g 2" MR o Sard fom, "H FoffaaR aeter argam|” g8 |

Mol o gl - "Had o SNTAAT oot =gT A7 oifehed el 3rea shiclst H HY waer &eT Ao

ag # A sifas areg # Al Fan, dead i iR eafdcgre & eams 96
S¢ SSllfaR §efat & T Jaeh! g HEd AT g1 37T aTo ielel H 93T & T 7 I
A 90 fderd 3ish =MEU| JH AN SoNfaRer diesT # o gl ST =rgnr| gafaw 3eh 4
I AT g AR $T W o9 Y Se - "HeTeR Ao 3R e A 3 oeTd
&, oifoheT TTTI QTET 37THT AT ATl SSNATRIT G&T H T AT o S/ g1 & 3mrer
EF A 3HAT AN A SRE|" Tl IE AR Tgd G U 3R 3ol 30l o T LArael

arl
2.1 Vocabulary
et (f.) class Yy (f) preparation
g1 (f) hard labour afor g (m.) mathematics
gar (m.) admission TG ATET (M) chemistry
gifas e (m.) physics SR necessary
3 (m.) number / marks qmameft (f.) encouraging words/ applause
AT ordinary
2.2 Answer the following questions on the basis of the text:

1) HMR gewif3ge & g &1 Sl A & ?

2) 3T Plolel H YAAY & T FIT 3ETS & ?

3) AR & HiT § AT 3T 9T § ?

4) R & Tar sfifaaR =4t Ag 9o 2

5)  d faxafdcarerd H 1 dord & ?
2.3 Grammar and Structure

Infinitives are frequently used in combination with the verb root ‘dig’ means ‘want’. The

verb “dTgal” can be conjugated in all the tenses, e.g.

1.

# ISR STl =g &

[ want to go to market.
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2. gg I/ 9= agdr gl She wants to drink tea.

3. 3T HiT GT 2T ST dlea A? Which city did you want to see?
4. Tsferal o fheda a@=r I The girls wanted to watch a film.
5. ad frad f&eer g | 8 Whom do you want to meet?

6. |3Ter IS drEsr Ay oA He wanted to learn English.

Note the following structures

L. | qrorer e Qe B TS fhehe Wolell_<Edr ¢l
2. | 3M9% T FEl WA ? I SIEd Hel Gell dredl ?
3. |# A=E & gedr # Hag H Yool =gar o

4. | gEer aréf & o amm A Ot # NS AT AT
24 Exercise

Now transform the following sentences on the above given pattern:

1)
2)
3)
4)
5)
6)
7)

Unit II1

3T fhdeT ddel oldr?
39% AT ar ARy 7 Far |2

UM AG A Fools HT @ 27|
# ST AH T 30 eed A AT T g

I Tt SR Tudr &
Rigameft & R HRart odi|
FAT A a9 HNH I § A?

Patterns Introduced

1.

Inceptive — to start to

Inflected infinitive - dTT
gg f&er seey |
309Ter Aol deh faeardt Sy foraar aeian
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2. Feeling / liking
Object ... + adjective + o3T=T

qHPT FAT IS T B

3Gh Wl TS o9 |

3. + dTelT as an indicator
37T arell fohare| 3BT aral S|
Arelr arell &S| AT gt 9™ |

3.0  Read the following sentences aloud. Try to comprehend the sentences with the help of the
vocabulary.

) A et s RS Sos ot

) IYHT 018 &8 Gt & asfhe Taal_a@9m|
)  TE HH & GAT Tehlel Flel ol B
)
)

w N =

S

3 §H 9T 98T W sl ol &1
5)  38& B gedl Aot Fa§ Ut ool ¢
6) 3 T §ARY ST IHASTe ool |
7) O gar golel ol AR Ul SRAa 9|
3.1  Vocabulary

faeamdt (m.) student GHSTAT to understand
Sl o9 started speaking gar (f.) wind

9818 (m.) mountain gaT Teley ool wind start blowing
oy o § have started climbing ST to rain / to shower
=t to cry /to weep

3.2 Grammar and Structure

3.2.1 Use of ‘@’

. You must have noticed that the verb ‘o9l is used with the inflected Infinitive and it
denotes ‘to begin to ...”. This type of usages are very frequently used. The main verb
always comes in the Infinitive form and is inflected. The verb ‘edTT’ is conjugated in
various tenses as required.

. “ST9TeTT” is intransitive verb. Therefore it is not used in construction with ‘a’.

216



The basic meaning of this intransitive verb is ‘to be apply’. It occurs in a very wide range
of expression when it is used with adjectives like 37T&I, WIS etc. where it denotes feeling.
For such expressions the subject comes in the indirect case with ‘&I’ for example:

HSTh! STETUT R WIell 37T ofarell ¢
I like south Indian food.

YT HF 79 I TolelT TS 30T g
Radha doesn’t like walking bare feet.

IHPT BE ATT 31T o9
He likes Hindi language.

FIT 39T TGT TgeAT 3TOT oT3NaMm?
Would you like to stay here?

fae=ly ST @r IR Fex 9T B

India looks beautiful to foreigners.

The following usages will have ‘@I’ with the subject and can also be used without any subject.

e AT look beautiful
AR ST appears difficult
TS AT sounds interesting
ST 3Tt feels bad

HIST of@Tem tastes sweet

For example —

3.2.2

H F1igse @ d B Oranges taste very good.

el Qfl;c'\T T gl Flowers look beautiful.

JgTsl OX gaT 331 ol gl Wind on the mountains feels cold.
A I fhaT UFh T Bl The farmers seem tired in the evening.

affAt 7 3FAT sfielm <@l &1 The sky looks blue in summer.
Use of dTell

You have already learnt the usage of ‘arell’” with the nouns. In this case dTell denotes ‘one

who sells—’/ ‘one who deals in—’/ ‘one who is concerned with— etc. Such as graTelT, RererareT,
fgararell. “@rell’ can also be used with the adjectives. Sometimes it looks superfluous but it can

also give the meaning of ‘one’ like —

CICIRGIEI the blue one
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3<ST drell  the good one

g drell this one

QT aTret the old one

H?@ arell  the famous one

o€ arell the long one

For example

HSThl HEIN dTell Fheld L1 BT I don’t need the pen which is costly.

BIC dTel ST 31T 637 Children, who are small will sit in front.

ST 38 QAT aTell weAlsT Tgalt & Today he has worn a shirt that is old one.

aA e arel TET § FAT S [ & Why are you taking the route which is longer?

3.3 Exercise

1) Convert the following sentences with the help of verb “e13TaT’:
1. QT T UTT §of g fohohe Weld (present) & |
2. HATET TSRl & SSIR (past) TS|
3. TeIST b 3TS &7 Teidlt (future) |
4, T JH Fl F Al T 3N (future)?
5. aiar o affer s AT (past) 2 |
6. SAall # feoelt H a5 &% gIdr (present) g1
i) Answer the following questions in Hindi:
1) Do you like learning Hindi language?
2) Did you like playing cricket in the school?
3) How do you like summers of north India?
4) Do you like Hindi Films?
5) Did you find the Andhra food tasty?
1i1) Add “drel” in the following phrases and use them in the different sentences.
CERCIEY TS aET
&R fAers afear &M
S AL FerST
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3.4  Additional Vocabulary

aTwT () language
THAT to walk/to turn/stroll
W (f) bread / chapati
Traet (m.) rice

QT to play(a game)
el to say, order
gaTs 8Tt (m.) Aeroplane
et (m.) journey

e (f) sweet

ST to live

el to touch

ngﬁ (f) happiness
gier (m.) plant

g9 (m.) thousand
gFT (m.) week

afayor south

=Elll naked/bare
T interesting
gaaTr orange
rarfese tasty

ICTiGI farmer

ThT tired

ITHT heat/summer
AT sky
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Recapitulation

You have learnt the following structures in this lesson:

1)

2)

3)

4)

S)

Future tense of the verb:

# agam & S|
o | 39 S|
9 S| J 2
GEAtCIp]

Expression of desire/wants to:
# e draem =g gl

dg g HTSTC TgefT gt 2|
T, 31T R 37T dTga|

Inceptive construction which indicates the beginning of an action - ‘started studying’ etc:
dH SN ATl |
39 & Sieled ofdreT|

Expressions of feeling / liking
AT Gar 3T eerelt B
YT HRA HET ST 872

“aTell” used as indicator with the Adjectives

HLIT eIl HF

HIET arell fohdre
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LESSON - 16

Unit-I
Pattern of Sentences Introduced

Present Perfect Tense

Intransitive Transitive
H &1 oo qg’m §“’| HoS @ @R gl
Read the text aloud.

Try to comprehend the text with the help of vocabulary.
Go through the section Grammar & Structures

Read the text again and you will be able to comprehend.

1.0 Text

sferx 3ttt 39T AT

AT T M ool & 1T &l 3TS I A ATH THTIR gl dg Yer-forar g, 3a By
A TAU. R B 3T IS Sleflr ot 31T 81 98 $o ot ggel €1 ool 3mar g1 3Ha T
WHRT SFaR | ARy A &

AR & SFR & 9T & Teh Sler-ar =X e o o §1 38 asfehd @ gFdy Jer
gHe &1 Reel & Arsfoher Telel 3T G ¥l T W gHAT g iz el ¥l T ol e
arsfoher & &1 ST 81 RHeR & #EA & feeel 3 9gd 33 gl & 3R 3haT e o @ g,
sdifor aftat & graueh & aEd gdEr FTR g

AR & ATAIR T e 3T ST g1 3HAT I g gU-8RT g1 7 7 AW &
U el Feirr §1 3 qgt dga 95-M Fenv ¥ 36 @Y F He-we F FA o B

1.1 Vocabulary

g (m.) village Y (f.) care / caution
ger-forar educated argsT (m.) vehicle
I government E-97T lush green
AteRdr (f) job gaf=r (m.) garden
foRmar (m.) | rent 95 (m.) tree

s () crowd T (m.) plant




33 (f) winter / cold LG to plant / to apply

R Corery often HAG famous
HIET (M.) fog TRE-ag &1 different types of
1.2 Text based questions:

1. ANYT & NG HT AH FT § ?

2 gg ool &dr 3maAT § ?

3. ool & arsfehel ol o4l AReT & 2
4. feeel # e Sgd 33 &I ¢ ?

5 MR & F9T & FI-a73a7 g ¢ ?

1.3 Grammar & Structure

Read and compare the following pairs of sentences:

A) #F 3mm) I came. gH 37T We came.

B) & 3mar §°| I have come. gH 3T & We have come.
A) q 3m| You came. qH 3T You came.

B) q 3T & You have come. q 3T al You have come.
A) ag 37| He came. I 3T They came.

B) de 3T gl He has come. 3 3T g They have come.

In these pairs, the group ‘A’ sentences indicate simple past tense whereas the group ‘B’

sentences indicate present perfect tense.

The present perfect represents a completed act, the effect of which is still present. It is, in
fact, a tense of the past; but it brings a past act into relation with the present. The person
or the thing referred to, by the verb in the present perfect ‘must be living’ or “still existing’
and this related to the present. e.g.

H IRT =T Eul In this sentence the city of 3TIRT still exists.

. drstHgel s still there, so the sentence brings a past act into
HeT ATt @ gl o
relation with the present.

The present perfect is made by combining the past participle of the root with the present
forms of the root 81T “to be’. As in the present indicative, the past participle is affected by
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Number and Gender while the gI<T forms (%’, %, é, ET) are affected by person and number.

. The present perfect forms of the verb root, 8l=T thus are
With a masculine subject With a feminine subject
#dor gl | A5 € # S gl gA 98 gl
TRl |JASSE /TS El | S & qH S8 g1/ 3T S
gg dor g1 |9 45§ gg S gl | A E

In the above sentences, the verb ‘8’ is Intransitive. Hence, it is subjectival, the verb agrees
with the number and gender of the subject. But with transitive verbs such as ‘4¢’, it is objectival,
the verb agrees with the number and gender of the object, because in simple past tense the subject
of the transitive verb takes ‘" post position. Like, simple past, the present participle also agrees

with the number and gender of the object. The subject, is, of course, placed in the oblique case with

@

TH A fohare (f.s)) 7dr Bl
rar A ferdre (f.s.) 9 &l
TA o Hel (M.s.) WAT gl
drar o Hel (M.s.) WA gl
IT S 93 (m.p.) o g €I
drar o g (m.p.) @ gl
T A gicedr (f.p.) ST &
g & afeerdr (f.p.) drer &l

You must have noticed that the verbs in these sentences are controlled by the object not by

the subject.

Read the following sentences for additional practice:

1) T 7 U TAwIHr @er gl Radha has bought an envelope.
1) JHA haer difaT @i &2 How many towels you have bought?
1i1) Ha gg S Ue eT9E ¥ WS g I have bought this car from a teacher.

. o . . . The wvillagers have made these roads
V) |3fg & ael F & I g5F TS §

themselves.
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V) A HAY A @A s @ § 2 Who has opened the windows of my room?

vi) 3egle ol CaToll T&AT & I8 fhear &dr| They have seen this film yesterday in Plaza
gl theatre.

vii) FT W ezt & amedsh & fharer | Have your students read the books of
i Gandhiji?

vill) | gg J@ AN gel 7 o gl My wife has written this article.

ix) U HAY # T sar 9 gl A boy has slept in this room.

X) SieFeY Ies Jiqé T g Doctor has gone to Mumbai.

X1) & zg@ glea & O f&eT T@T §"’| I have stayed in this hotel for a few days.

Xil) | osfear e s § These girls have just come.

1.4 Exercise

Fill up appropriate forms of verbs with the help of the words given within brackets:

Unit-I1

S
D S A R gt @
B
W aE T s R
S —

In this unit the following pattern is introduced:

2.0

e

Verb ‘8I<IT” as generalisation

Text

(have bought)
(have stayed)
(have brought)

(has gone)

ool 9RT &Y TSI &1 I8 9IRT & 3o & ua &1 ool &Y a1y 31aTehel SToT81eT
ar T &1 el &T 92T & oleT @ &1 T e 31eTer-37claT HIOIT Sveld &1 ofeher Fafr ol &Y

gl

ool 7 mdR W e Hiew § - @l it 3R SEnd| @€t Fr AleH FaR d g
g &, fewey, Seradr 3R wadl 7 ST 33 g &1 AT & A ¥ I F AGH IE grar
%ﬁ?aﬂ?—r,ﬂémagﬁagﬁmﬁa?ﬁ%l SIS, 3 3R AdsR aRer & &= g1 5T
feait foeel 7 @a aTRer gieh §1 ey # Ahad oo giar &1 a3t & AaA 7 T, R/,

224




A 3 Bl g &1 Fféat F Tg-ag B Ffeerar gidr § 3R A9, @R, A% AR AR
e Bl I &1 SRATd & HGHA A AT TR gled TW TRl W TeAeAT HRReT Bl &

2.1 Vocabulary

TeTerrer (f.) capital I (f.) musk melon
¥ 3caT H in the north of R (m.) watermelon
T=res situated / located 3 (m.) mango
TS () population THAR 9T generally
TITHIT approximately Healr (f.) vegetable
T ten million ®el (m.) fruit

Aa# () weather / season A9 (m.) apple

Tt (f) winter / cold 3R (M) pomegranate
AT (f.) summer / heat AT (M) guava
sy (f.) rainy aier (f) rain

35 (f.) cold s (f) road

geTall pleasant o (f) grass

2.2 Answer the following questions:

1.

2
3
4.
5

feeet el Rua ¢ ?

feeel & Sla-wla & Alad gla § ?

TR & FLT dieT T § ?

A FI A E ?

ool # Hshl W Tolell e HRehol GIcll & ?

2.3 Grammar and Structure

The present imperfect of ‘8111’ is used to make a general statement or to state a condition
that is generally valid e.g. “GT®H B Blam g (The grass is green.). Ths simple present form of
‘glo_-ll’ (%, Ef, Euand ?f) is used in all other situations. For example

I daX Hs E
AT X S A E

These oranges are sweet.

Oranges from Nagpur are generally sweet.
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Now note the difference in a statement (information) and a generalisation in the following
pair of sentences.

A B
¥ ugrs 9 ¥ qeTs 9 g &
These mountains are high. Mountains are generally high.
4 foaforar gex g facforar gex gl g1
These butterflies are beautiful. Butterflies are generally beautiful.
I N dHaR gl R ahdaR BT g
The tiger is strong. Tigers are generally strong.
qrsaRAT 337 ¢ sl & 33 g B
Siberia is cold. Siberia is usually cold.
TG T I IR HHG T Ul B BT B
Sea water is deep. Sea water is generally deep.
24 Exercise
1. Answer the following questions:

i) THg 1 el R W1 & g § 2

i) FIT UgTst 9T Hel gidr & ?

i) 3T WS F AT Hal giar & ?

iv) 379 QX / Mg FH Fid-ahled T Bl 810 & ?
V) FIT 39k Jgl fedeal & 33 gIar g ?

2. Write five sentences on your city / village describing the general characteristics of the area.

Unit-111

In this unit, following patterns are introduced :

(1) Use of Infinitive as noun

i) STecl AT 3ol gl

ii) HleT T HeRT
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(i Subject + F + Infinitive + 31T
A 9 A ATSFRer TTellett 3T
(ii1) .
Infinitive (Inflected) + & oI Verb
Ig fhed @ ATTH e 1
3.0 Text
CIGEG]

9

AT SFd HY AY B & Y @T gl 38d IRAR #H IR o7 § - 98, 39ehl Tooil,
3 9 3R 3HAN 97| FHb 9 T AH Aol ¢ 3Fh 37 BF ATl g1 IAA 3T J¢
& T Ts Ui aRT §1 3TPT AU W Wolel g qHG gl 39% I T Arsfoher o B
35! HTSfehel TATAT AE1 JTAT SAIAT dg HToTohel HISTehel TeAAT TG TGT &1 AT a0 &
Thol ST g1 38 e AR B H gealr-for@air 8 317ar §1 Tho! ¥ dlled & dlg 98 Th
ger adl @dr § 3R T UIST 8T 31R1A Xl &1 MH &l 379 SIEdl & A1 Wolell, Thel T
HIH AT, Wil @eT 3R & o doh @ J1ar 39 et g1

3.1 Vocabulary

37 (f.) age GG to return
3TRTE FT to take rest feerat (f) | daily routine
F dI¢ after T T nowadays

3.2 Try to comprehend:
1. @Y & URAR # Si-Hle § ?
AT fohca ATl &l & 2

2
3. FIT AT ST FI TSfhed TATAT 3T & 2
4. AT H FEE Yol THG § ?

5.  THISE $I et faf@u|

3.3 Grammar & Structure

. The Infinitive is that form of a verb which expresses simply the motion of the verb without
predicating it of any subject.
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When used as a noun, the Infinitive is treated like an ordinary noun ending in ‘3T’
(masculine). The Intransitive Infinitives as nouns are used only in singular. e.g.

o

Todl 35T 3T gl Getting up early is good.

33 Ul ¥ ABT T2 & fow 3eor
g g1

Bathing with cold water is good for health.

Whereas, the Transitive Infinitive is controlled by the number and gender of the object. e.g.
A I 99 o g1 I have to write three letters.
gt [ELCE

gt & 9ga @ fhare ggelr gl | The students usually have to read a lot of
gl books.

Thus, the Infinitive, in spite of being a noun, retains its verbal character and therefore, takes
an object. e.g.

H BT @ e HId §”| I like to eat fruits.

ar o 38 {Ne i 97 e Father scolded him for smoking.

When followed by the possessive particle or any other postposition, the Infinitive inflects
like any other Masculine Noun.

diel T 9T (m.s.) Drinking water
Tl T FHFAT (m.s.) Bedroom
gl Fr 1T (fs.) matter of laugh

Notice the inflection in Infinitives in the following sentences:

M A & & T FIT 3T ? What will you do after my departure?
Hlel el - ik Clean your room before he comes.

HU|

T Tadd W gH BT Hifav] Call us after reaching home.

To express purpose the oblique infinitive is usually used alone, it may also be used with @I,
& foIT. These postpositions can optionally be deleted, e.g.

g8 & fhed @ (F faT) Swel She will go to see a film tomorrow.

A 370 & T 39 ged e (& faw)
3|

I hope that you will come to meet us.
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frer A AN T SF F (F fAw) Fa| | Send someone to repair my car.

& 39eRT & AAT A (BN) ATHII I will come to listen only to your song.

Infinitives with the help of *31Te1T is used to express the ‘ability’ or ‘skill’. In such structures,
the oblique subject takes ‘@I’ and the verb ‘31TaT” is not conjugated with the number and
gender of the subject and object. e.g.

Tt fBEr Srear 3rar gl I know how to speak Hindi.
39T AT WolaT 3TaT &l He knows how to play Tennis.
oIS I TTsfhel TATAT 3TAT B The boy knows cycling.

The Adjectives ‘T’ (worth) and ‘ST’ (suitable for) usually take the oblique infinitive
alone, but may take the oblique infinitive with ‘&’

dg qEdH T () AT Bl That book is worth reading.
Ig 715 hed @A () TS ¢ This new film is worth seeing.
Exercise

Complete the sentences with the appropriate forms of the given words:

O e 3 e 31t gl £1 (3o
S— 4 e s T & e B (o)
e — 1 e

4 g e e e T B ()

6y iy o & (e

Transform the following sentences as per the given model.

Model: & ATSThel Tellell ST §| > FHHAR AISfehel Tellell T T
1. ool WA WIeAT Tl STl &

2. &7 g 9REer e e g ?

3. Rus Ry sieew Siere B

4. TSIRIA Al A8l TATAT ST AT

5 arsfaral AGEY T STt E
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3.5  Additional Vocabulary

afeaat (f) leaves Fruits & Vegetables

diferar (m.) towel qddr (m.) papaya
as (f.) road 3 (m.) grape

g (m.) article AT (M) coconut
gg1s (m.) mountain 3T (m.) potato
fader (f.) butterfly TS (m.) onion

A< (m.) tiger TATEY (m.) tomato
drehday strong amedr (f.) cauliflower
adg (m.) sea ST (f) / &m (m.) |guard
EIRRL deep qreleh (m.) spinach
AL (M) health FX (f) peas

97 (m.) letter e (f.) carrot
=T to laugh ;:F,ﬁ (f.) raddish
37 (f.) hope @RT (m.) cucumber
39aTE (m.) novel T (m.) bitterguard
Parts of the Body

arm aig (f) head &R (m.)
body T (m.) heart e (m.)
brain feAmT (m.) leg erer () / R (m.)
car 1T (m.) lip &5 (m.)
eye 3@ (f) mouth gi'g (m.)
face T (M) nose 1 (f.)
finger 331elr (f.) stomach ¥ (m.)
foot & (m.) tooth ara (m.)
hair aTel (m.) shoulder YT (m.)
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Recapitulation

In this lesson you have learnt the following structures
) # IS gag B T 3T &
I AN A fhde 96 B

) AR & ¥ @ &
TG & T Ao i g

i) gt 7S T WrEer THg B
T UG TSI 8T gl

V) qrem & affAe fo@er 3mar B

V) HER A qorere AR e o

g 39T Uga oh gl
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verb ‘BT

use of infinitive as a noun

Sub + infinitive + 31T
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Response Sheet

Exercise 1

Fill up the blanks with proper past continous forms of verb given against each sentence.

Model: El<T T .......... | (F=T)
AT T F=7 Er AT
1 e I o GRS e
2 . T ——— | (@ )
3 GERT e L@
4 ST TR L (@)
5 FIATON €T 31 G Gay oo @)

Exercise 11

Transform the following sentences according to the model given:

Model A: & =g o 3T gl # T 9 @1 A

1 WA G GBI e
0. TUGTSN AT F TEEl T | e
3. AN AR GE T E| e s
4. VG WA WG QI EI
5. ST TS HT HW FT G EI
Model B:  Irem & T &l T T @Y W

1. AT CEET AT QTR e
2. TE WAT ARG G B e
3. HHET TEEN W AW W B] e
4 FAMGAWE
5. TG N ST E @D



Exercise 111
Expand the following sentences by adding expressions given on the right side, as per model.
Model:XTH ST g1 (S9TR)
TH dTTR ST § (ST 2T )
TH U A Hl SR 1T gl (T o)
A UST ATH P 91T §of IR AT &1 (3MET )
TH AT ATH H 9T Fof ME F S AT &
1. drar 3T 81 (R)

Exercise IV
Translate into Hindi.

1. What are you doing?



6. They were going to market on Monday evening.

Exercise V

Frame sentences

@ |ww

34 3H ATl H 3cc HIH &

Glad 39 aRX H AT § /AT §
I 3TET AT




1. Improvements needed

(a) Spellings

(b) Grammar Points

(c) Structures

2. General assessment of the performance.

Comments & Instructions

Excellent Very good

Good

Fair

Poor (Needs improvement)

Name of the Evaluator

Signature of the Evaluator with date
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Response Sheet

Exercise I
Transform the following sentences into simple past tense on the pattern of the model.
Model: ag TS AR o IATAT gl
AfeheT 3T @8 IR &1 81 31|
1. TICAT §ART 37MF BledT & 3gldl &, ofdhed 37 a1 d8

Exercise 11

Fill up the blanks with appropriate past tense forms of the verb given in the bracket:

Model: AR & gars (f) = (ot
AR o garg ol
1 T TS (f) oo (@)
2 AT ATl T 3T STTEE oo, (¢Tr=)
3 el Tl FUT AT ST oo (STT=T)
4 12l B = o B (1 1) JPUR O (AT AT
5 30 ARY FACTEAT (F.0.) wovoeoeeeeeeeeeeeeeeeeeeee e, (STST T)



Exercise 111

Construct five sentences from the table given below. See the model sentence for guidance.

Hr e LCIES

39 [a} R

3ogiel TS A By

gHe FUS LCRICAl

[ o CT) e

FAT 3T arfear Ter
Model: A AT @ |

1. ........................................................................................................
2. ........................................................................................................
3. ........................................................................................................
4. ........................................................................................................
5. ........................................................................................................

Exercise IV
Transform the following sentences into simple past tense as per the model given below.
Model: & T g&r i €|
Her 3rmer o g o
1. # AT 59 gleed # e @ g

2. &1 gH U & vedh g

3. # U FUS U g

4. AP AT HAT TTH LT gl



5. ag Vsl 3M9H fAerd &l

Exercise V

Transform the sentences as per the model given.

Model: @8 Ul QAT WIAT AT 3Tl 38 el WU |

1. g s R gear o | T oo o |

2. 98 e g T o | IST e o) AR I

3. 9% §9g 9fg o e o | FIGT oo T |
4. 98 U 39e1 HUS Gidr AT | I e F U R |
5.  gg Ud # 3EER geaT o7 | G -eeeeereeeesnenen G R v

Exercise VI

Write the past tense form of the verb without consulting the lesson.

Model 3T 3T kil kiIES s

1. qga- ....................................................................
2 e e S PP
3. B s e e
4 TT e L L
5. TG e e,
6 TR e e e e
Exercise VII

Choose appropriate form of ‘3791’ from the box and fill in the blanks.

39T, 39T, 39eT
1 @W ............................... anl



3 T PR oo FERT
4 A e AT FaT3
B e, o eS|
B. e &or HereT B
Exercise VIII

Substitute the underlined pronouns by 39=IT / 319sil / 3Tet
1. # M WS gl

2. dH JFERT ST GeA13i|

3. J 3o X 7|

4. 3T 39T ATH ddIsU|

Exercise X

Read the following sentences. You are expected to fill up the blanks with the appropriate form of

L e o S B S e thoin) o e & &
S i) e e AT o <
o thor) 7 7 g e <8 1
P our) e & T
N i) et 3 e e o G
N youn e T T 7
e ny) et 1 Py P e e



1. Improvements needed

(a) Spellings

(b) Grammar Points

(c) Structures

2. General assessment of the performance.

Comments & Instructions

Excellent Very good

Good

Fair

Poor (Needs improvement)

Name of the Evaluator

10

Signature of the Evaluator with date
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Response Sheet

Exercise I
Transform the following sentences into future tense as per the model.
Mode: ST 3720 gledl H 3gdar gl
Siiel 3720k glcel # G |
1. 9 919 g dledr gl

Exercise 11

Fill up the blanks with the Hindi equivalents of the English expressions given against each line as
per the model.

Model: & ............. BRI §"’|

# =X =T Trgdar §'|
1. ﬁ- ........................................................... qTgdr il (tO write a Ietter)
2. ﬁ- ........................................................... ﬂTB'aT E’\il (tO Se” my Scooter)
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3. w ........................................................... Eﬂ??—ﬁ' %—I (tO begin the Work)

4. TT T coorrererrrerrerer e Enga- a-t) (to return to your Vi”age)
5. gg:r ........................................................... ané- %-I (tO meet hlm)

Exercise 111

Complete the following sentences with the Hindi equivalents of the English expressions given as
per the model.

Model: FT 3T TET_AT SATAdr &2 (how to type)

1 GRIT 3T ceeeeereereermsees e ST £ (how to drive a scooter)

2 GRIT 3T ceeeereeremeeemmnm s ST £ (how to prepare food)

3 GRIT 3T -oeeeeeeereememeesmnsiss s, ST £ (how to write a letter in Hindi)

4. GRIT 3T ceeeeeeeereermseeseenes s ST £ (how to count up to hundred)

5 GRIT 3T eeeeeeremeeeme s ST £ (how to repair a watch)

6. T T cooreeeerreerreeesr e m %—r) (hOW to present powerpoint in
computer)

Exercise IV

Supply appropriate verb form in the following sentencest as per the model.

Model: 8 @197 AT ......... | (began to run away)
S ST 37eITeTeh AR ol |
1. a—sa; FIT ﬂ- ................................................................. (began to play)
2. (‘»lgﬁw_?ﬁ G‘ﬂT a— ............................................................... (began to make noise)
3. {l)—a-g a_-ﬁ‘ a—a— @— éT m aq\ ﬂ- .......................................... (began to Stand Up)
4. (—,n?-l- @—aa @- ................................................................... (began to go Out)

Exercise V

Complete the following sentences by choosing correct word given in bracket.

(3TTElT Torell, STGel BT, A% IZIM, HRY a9, IRST & 1Y)
1. mmmﬁm .................................................................... |
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4. m?n%mﬁmﬁ .................................................................... I
5. a’QTa?Eh_é'S:I'I?ﬁﬁI' .................................................................... @%qgf“

Exercise VI
Transform the following sentences as per model given below:
Model:&el (yesterday) 3T S&eh H FAT arel?
%ol (tomorrow) 3T SGh H FIT Slelar?
1. & g8 A a1 8 i 1|

Exercise VII
Answer the following questions with the help of words given in the brackets.

1. 3T I & AT FIAT o6Er? (FAHN)
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5. UGl T 3CHIC d gHEM? (GH dRIE )

Exercise VIII

Transfer the following sentences as per model given below:
HS MR &M goldl THE & |

S AR HT goAdl IS I g

A TR WIS IHS &

—

Comments & Instructions

1. Improvements needed

(a) Spellings

(b) Grammar Points

14



) Structures
2. General assessment of the performance.
Excellent Very good Good Fair Poor (Needs improvement)

Name of the Evaluator

15

Signature of the Evaluator with date
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Response Sheet

Exercise I
Transform the following sentences into present perfect tense as per the model.
Model: FlgsT 3T R H FAX T

Ag 3T R T SFAR I

1. AlRT YR TTHATT =TI

Exercise 11

Complete the following conversation.

I o g (lomon) ST R G e
e I E? e
R AT E? e
S A B e
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2w o s T B R
e AR §7 e
B W MG §Y e
3T R AT T B2 e
B BT T B e
e 31 3 22 g o
il T 7 e

Exercise 111

Transform the sentences as per the model given.

Model: H&¥ T 31 &1 # BEr SreAar él

LT B | 1 OO
2. HI AT TAG AT Bl oo
3. I BN TR JMMAT Bl oo
4 T QATTUTT FTAAT STTAT B oot e e e et e e e e e e
5. ST WAl Felloll HTAT Bl e

Exercise 1V

Frame 10 sentences on the basis of the following table:

ﬁ: .
FS T
g
ISR SATTdT / ST / ST y '
39 g/8 /%
' 4T 3Tt
Ie
Ay
TH Fl




Exercise V

Transform the sentences as per the model given.

Model:ﬁmmél ﬂ?mm%l

1.
2.

3.
4.

5.

‘{6H|°‘|3§q(‘nd| STTeTdT %—I ...........................................................................
wﬁﬂ-—sﬁwaﬂmmgﬁl—? ...........................................................................
AT FOGET F CGT FAT ST §] woevvessooessssssssosss s

ﬁa{ddquﬂ \'J'||0'|('|“| E—tl ...........................................................................

agmmma-l ...........................................................................

Exercise VI

Translate into Hindi.

1.

These girls have just returned from Jaipur.
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1. Improvements needed

(a) Spellings

(b) Grammar Points

(c) Structures

2. General assessment of the performance.

Comments & Instructions

Excellent Very good

Good

Fair

Poor (Needs improvement)

Name of the Evaluator
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Signature of the Evaluator with date





